HANSHIN

THEHUE

16133

TL1710H O LEHOI
B3 A HEYH e
=08 HetE G =
sar L (10%) (60%) (30%)
za 52
> _ 121(10%) | 22110%) | 381(10%) | 481(10%) | 52110%) | 621(10%)
Cixlel | A=H | SO A HetAl 23
2302.15 | 23.07.14 | 24.01.15 | 24.08.16 | 24.12.16 | 25.04.15
245 | 3 |101472841|310479236] 31047923 | 443000000 44.300,000}§44:300000 | 44300000 | 44300000 44300000 | 44300000 | 44300000 132900000
5-9% | 5 |107428357|328701494| 32870149 | 469000000] 46200000 46900000 | 4530n 988 | #8900880] ASIADORE | 46309890 | 46900000 140700000
10192 | 9 |109947999| 336410910 33641091 [ 48000000048 000000fl48.000000 | 488AnmBnT Aesoodee 48000080 | 46400080 | 48000000} 144000000
205014 10 | 112696699 344821,183] 34482118 | 492000000} 49.200000)149.200000| 49200000 49200000 | 49200000 | 49200000 ] 49200000} 147600000
Lid
moj%E HRAIE
1= =82t HEH tEF
AU YS! 10%) 40192 097-103822-01-021 2[RI
nE2 EUThE 2] 10%01H 2 S'E 2LIPHJOIFOZ Ug Al FOISHA| HIZ.
s X|YE 2YUSCItE, SEa, )2 FYE 871 8le 587 12 HAIZ YIotAP | BiZit, ARFHolAE EHRY S 2R a0 oo E ol
SEE IR Y2
n 4 DIKR SR OfLISH LI QUOf| SLom FUEABE M| S0uEe we Lolg
#5239 713 HU0| /0% E- 3H0U0I 30 ol euoisiol 5|0 B3| B
nAlfE Y 2 FEYUSS2 HHIZ A XTSI | HiE, (A=F=0fM =~ 271)
w50 LIOI0] 112 SAY Al AR Al ] pte.
1 RSHUS M= & - 2 S AR EYS TO| 7 |MotA2| HIRh (T, 258 Yait & Y7L S fAH0R TWYE K= 220| 71s0HH, te
O[RH= ZYotX| 23) [0l 1055 10012 82E2 B2 1051001825 0|21 7|*H]
o
mob |2t 2 g
HAHZ 712t HefHIZ ARt (S HtE HE
092 2%(=) 11:00~16:00 A AR (E H 25 979) s R 88 s
0 =]
m|2FA] FH|MF
7| HIZBMFE £|X 2YYNU(2022.08.26) 0% LE=0] SH51H, QASYM(HIXT 201 L0 o) 822 S0
YFOtEE = =010| 2T 2 [RHot0] MIESHAP | BIELIC.
- FHINE
w203 REUIES o IR
BRI QAT BN 12(Be : QUARAGE, 201 L5 80 3hef) FE= EQUMBAEERIM S,
EOIAA| | wAQio| FUSEASE 18 FOISEHAE 1 HIPEAHS A T3
nASBFOISEE CE 2HOIS, O 5) UPIAADEMRISE) ARAISSFER AL 12
B A UK SR ES(2UAIM)
m 201 0[Q0l= 27 EHe[Qlo 2 2t
(BHSRH 8L 2P - Bl Teljoiny 41| 8| Akt 2l0f OfH M= S 2012 RiEsiofop
H[3XCHE| | wHAR[O| QI FO| HOIE Pl 1R AT A== HIX)
HHA| B} I AS BN 1RUGE | QEARHOF 2(0)F, 2Ol D580 ofel). H, 2=012| B2 2= &M STOIL 0l0] 23t SSSM
(PRt S | ORDHE| Hf Al ZQUMTBAERIIN 201 =2 TS 8 Bhef.
FHEAMR | wANKOURS(FUSES L= 2UHS, 0f) s IS(HRISE), =S ES(R= )] A= 17
mC2|R HES(FUSES Fu 2HHotS, G, SUAMI NSRS E), 2=IS S5 (@= A= 17
nCieQl =g
sgee ()OS 21 ORSIQIBYEF)  uen QRYXIE



